DRAWING GRAPHS
Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

1.

4 (a) Complete the table of values for v =5 —x?

(b) On the grid below, draw the graph of =3 —x* for ralues of x from -2 to 2

R
14
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&
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b

{Total for Question 4 is 4 marks)

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

2.



2 On the gnd below, draw the graph of v = 2 — 3 for values of x from -2 to 4

=Y

{Total for Question 2 is 3 marks)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

3.



18 The graph of 3 = fix) is shown on the gnid below.

R Y

e
=]
R

{a) On the grid above, sketch the graph of v = fix — 2)

On the grid, graph A has been reflected wo give graph B.

The equation of graph A is y = gjx)
ib) Write down the equation of graph B.

{Total for Question 18 is 2 marks)

Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier

4,



3 {a) Complete this table of values for y=x +r—4

x -3 =1 -1 LI 1 2 3

(1)

{b) On the grid, draw the graph of ;=" + x — 4 for values of x from -3 1o 3

=10

{c) Use the graph to cstimate a solution io @ +x—4=0

(Total for Question 3 is 5 marks)

Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier

5.



11 Sketch the graph of y=rtanx® for 0 £ x < 360

JJL

g

90 180 270

{Total for Question 11 i 2 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

6.



18 Here is the graph of y=sinx® for =180 £ x £ 180
J-‘-I.

|

i
1
4

L

On the grid. sketch the graph of y=sinx®" -2 for =180 < x < 180

(Total for Question 18 is 2 marks)

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier
7.



5 (a) Complete the table of valwes for y=x*—x—6

-3

2)

(b} Om the grid, draw the graph of y=x*—x—6& for values of ¥ from -3 10 3

2)

(€} Use vour graph to find estimates of the solutions to the equation ¥* —x—6=-2

2

{Total for Question 5 Is 6 marks)




Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier
8.

16 (a) On the grid, draw the graph of ¥* +37= 1225

Y

(2}
(b} Hence find estimates for the solutions of the simultaneous equations

¥ +)3= 1225
ty=1

(3
{Total for Question 16 is 5 marks)

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier
9.



7 Brogan nceds to draw the graph of y =7 + 1

Here is her graph.
" I;“ J.=Ix=+1
i 9 f
\ : /
1 IEI {
\ H i
\ 7 |
! H i
\ 6 f
S
JEEEEEHA
NH
h:::ljl
:
1
=5 =4 =3 =1 -l o 1 2 3 4 5:';?

Write down one thing that is wrong with Brogan's graph.

{Total for Question T is 1 mark)

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier

10.



14 Om the grid, shade the region that satisfies all these inequalities.

y=1 r+y=3% i

Label the region R.

b
=3
R J

- -5 -4 -1 -2 -1 0 i

{ Total for Question 14 is 3 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier

11.



19 (a) Sketch the praph of y=cosx® for 0 £ x = 360

R Y

I
a0 1E0

Ehd



(b} The graph of y = f{x) is shovmn oo badh grids below:
(i) Omn this grid, draw- the graph of 3= 2ix)

s

(/]

|
(ii) Omn the grid below, draw the graph of 1 =Hx—3)

T

o

(/]

(Total for Question 19 is 4 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier
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5 At % am, Bradley began a jourmney on his bicvele.

From 9 am to 956 amy, he cycled at an average speed of 15 kmh.
From 936 am to 10045 am, he cycled a further 8 km.

{a) Draw a travel graph to show Bradley™s joumey.

k.

]

Dristamce
in km

I

0 *
Oam 930 am 10 am 10,30 am 11am

Time of day

(3)
From 1045 am to |1 am, Bradley cyeled at an average speed of [ km/h.
(b Work out the distance Bradley cycled from 10,45 am oo 11 am,

o km
i21

i Total for Cluestion 5 is 5 marks)

Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

13.



19 The graph of ¥ = f{x) is shon on both grids balow:
£

¥ = £(x} -1V

\ A

L
M

i

i

(a) Om the zrid above, sketch the graph of ¥ = f{-x)

4
E ?v
\ 1

(L)

=y
I

i

(b) On this grid, sketch the graph of ) = —£(x) + 3
1}

(Total for Question 19 is 2 marks)

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

14.



7 The curmlatre frequency table shows the marks some students gof m a test.

Mark () Cumulative frequency
D=m= 10 3
0=m=z 20 n
O=msz 30 48
O=msz 40 635
0=m=z 30 74
0=m % 60 80

{a) Om the grd, plot a cumulatr-e frequency graph for this mformaton.

1

Curmalative

8 8 & 3 3 8 8 5

=

=
=

10 | ] 40 30 a0 T

2
(b} Find the median mark.

Stodents either pass the test or fail the test.
The pass mark 15 set so that 3 ttmes as many students fail the test as pass the test.

(e} Find an estimnate for the lowest possible pass mark.

)
{Total for Question 7 is 6 marks)




Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

15.
17 Lounis and Fobert are restigating the growth in the population of a type of bactaria
They have o flasks A and B.

Af the start of day 1, there are 1000 bacteria im flask A,
The populaticn of bacteria grows exponentially at the rate of 50% per day.

(a) Show that the population of bactenia in flask A at the start of each day forms a
Eeomeiric progression.

The population of bacteria in flask A at the start of the 10th day is & tomes the population
of bacteria in flazk A at the start of the §th day.

{t) Find the valus of k

An the start of day 1 there are 1000 bacteria in flask B.
The population of hacteria in flask B groms exponentially at the rate of 30% per day.

(c) Sketch a graph to compare the size of the population of bacteria in flask A and in
flask B.

1)
(Total for Question 17 is 5 marks)
Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier
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13 (3) Complete the tshle of values fory =" —3r + 1

- -2 -1 0 1 2

()
{2) Omn the zrid, draw the graph of ) = x* — 3x + 1 for values of x from -2 o 2
.]" b
G
Ll
i
5
11
11
T
4
N}
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3
i
11
2
11
H
1
H
H e
i 1 G HH x
1
1T
i
2
1]
1]
T
=3
L1l
T
-
()
{Total for Question 13 is 4 marks)

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier

17.



12 (3) Complete the table of valuas for y=x'—3xr+2

x -1 1] 1 2 3 4 5

()
(&) On the grid, draw the graph of ¥ =" — 3xr + 2 for valwes of x from -1 to 5
()
™
12
10
2
== i) o 1 2 3 4 5 HH %
HH ! Hi tH tH HH HH
{c) Find estimates for the solutions of the equation  »*-3xr+2=4
i)
(Total for Question 12 is 6§ marks)

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier

18.



15 5une works for a company that delivers parcels.

Ome day the company delivered 30 parcels.
The table shots information about the weights, in kg, of these parcals.

Weight (wk=) Freguency
D=wsg£l | 19
l=wg2 17
Taw g3 . 15
I=w£4 12
42wl 10
FEw 6 7

{a) Complete the cumulative fequency table.

Cumulative

Weight (wlkg) frequency

O<wgl

D<we?
D<we3
O<w g4

D<wes
D<wgb

(b} Omn the grid opposite, draw 2 cumulative fequency graph for your table.

(1)



10

1] 1 2 3 4 5 [
Weight {wkg)
Sne says,
#7595 of the parcels weigh less than 3 4k ™

*{c) Is Sue cormect?
Yion romest sherar hoenr you get your answer

TS
(Total for Question 15 is 6 marks)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier

19.



13 (a) Given that ¥ and ) are integers such that

33T
=y
andx +y¥=13

find all the possible values of ¥,

() Om the grid below showr, by shading, the repion defined by the inequalities
r=-1 re=4-x rE dr-1

Miark this region vwith the leter B

=Y

{Total for Question 13 is & marks)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier
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23 Here is the graph of y=sin¥® for 180 < v < 180

lv-ll.

(&) On the grid above, sketch the graph of y=sinx®+2 for -180 < x < 180
(2}

Here is the praph of 3 =wcosx® for —180 £ x < 180

Vg

—180 o0 00 S 180 «

() On the grid sbove, sketch the graph of y=-2cosx® for —180 < x < 130
()

{Tatal for Question 23 is 4 marks)

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

21.



28 (a) Om the prid, construct the graph of x + =14

T &

i
5]
I
ds

(2
(b} Find estimates for the solutons of the simmltanecus equations.

P+ =16
y=k+1

(3
(Total for Question 28 is 5 marks)




Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier

22.
4
19 {a) Complete the table of values for v = —
x
x 0.5 1 2 4 5 g
iy 4 2

(R0 i i e e gl = e S a8
X

Ya
10

g9

(1)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier

23.



12 Om the grid, draw the graph of 3 = 2r — 3 for values of x from -2 to 3

(Total for Question 12 is 4 marks)

Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier
24,



15 () Complste the table of values for y=x"-2x -1

x =1 -1 0 1 2 E 4
¥ 7 =1 -1
(2}
(b} On the grid, draw the graph of y=x" — 2x — 1 for values of x from -2 to 4
F 3
o
H
LI
B
Ll
N
7
H
11
]
H
5
-
4
Ll
5
i
Ll
I
2
H
LT
1
]
i
-2 1 -f.a 1 2 40+ T
|
H
i..
]
(c) Bolve »—-Ixr—-1=x=+3
(2}
{Total for Question 15 is § marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier

25.



12 On the grid, draw the graph of ¥ = 3x + 2 for values of x from -2 to 2

{Total for Question 12 Is 4 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

26.



X —dx

17 {a) Complete the table of values for ¥

15

(2)

=-3tox=3

x* — 4y from x

(b) On the grid, draw the graph of y

X

3 1

1é

-2

(2)

{Total for Question 17 is 4 marks)

Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier

27.



1z On the grid, draw the graph of y-ElJ:+5 for values of x from —2 to 4

L

{Total for Question 12 is 3 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier
28.



15 (a) Complete the table of values for y = 22— 2x

x =2 -1 ] 1 2 3 4

2)
(k) Om the grid, draw the graph of v = 22— 2x for values of x from =2 10 4

Y

10

H

]

H

B

H

1T

4

11

i,

2

]

i .
2 1 o 3 4 x

-2

tH

=

i2)
(¢} Solve 2—2x—-2=1

(2
{Total for Question 15 is 6 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier
29.



4 {a) Complete the table of values for p=2r+ 35

(]

X -1 -1 0 I

(b} Om the grid, deaw the graph of y = 2y + 3 for valuees of x fromx=-2tox =2

(Tatal for Question 4 is 4 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier

30.



15 v =1fix)
The graph of ¥ = fix) iz shown on the grid.

{a) On the grid above, sketch the graph of ¥ = — fix).

The graph of ¥ = fix) is shown on the grid.

YT _7,_: -
AN /
—h — \L—;/ o J. -l/" 6 :J'

The graph G is a ranslation of the graph of ¥ = fix).
(b} Write down the equation of graph G_

{Total for Question 25 is 3 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

31.



JIII.
5
H
4
H
3
3
2
11
H
1
H
SHA4T I lfop I 2 34 Sx
TT
=
=2
111
H
=
-4
111
H

(a) On the grid, draw the graph of * + 7 =4

i
:.III
2
1
a Qe 180 2707 360 450° x
-1
-2
{b) O the grid, skeich the graph of v = cos x for (7 = x £ 160°
i
{Total for Question 27 is 4 marks)

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

32.



]
18 (a) Enmplmdruhlanfuhmﬁrr=;

(2)

12

11

10

mmmegﬁd,dmwmegnphury=§ for 05 <x<6
(2)

{ Total for Qruestion 18 is 4 marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier

33.



26 The graph of v = fix) is shoamn on each of the grids.
(a) Om this grid, sketch the graph of vy = f{x — 3)

LY

7 x




(B} O this grid, sketch the graph of y = 2ix)

¥ oa
-

7

(=

i
ik
s
|
|
- 2
Ft
Laa
i
=3
L

{Total for Question 26 is 4 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

34.



4 On the grid, draw the graph of y = 3x - 2 for values of x from -1 o 3

L 2

{Total for Question 4 is 3 marks)

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier
35.



13

b

Hws

1
T
pa - H

The graph of the straight line © + 2y = 8 i5 shown on the grid.

(a) Onthe m.mmm.:u:%—n

3
(b1 Use the graphs to find estimates for the solution of
x+2y=8
x
==—1
=3
:- Jr-.
(1)
(Total 4 marks)

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier

36.



13. {a) Complete the table of values for 3x + 2y =6

X =2 =1 | 2 3
¥ 43 e
2)
(b} On the grid, draw te graph of 3x + 2y =16
71 :
Ht :
' [
T T
I I NN
i I
H AR 1 1 ]
I T 4
. .--H' .
R I
T i T | -
| !I. | |
- - 2 1 ;
- - = - -
£ f 114 . FEERENE
HHHHH ! . i
b bl af-] 4 n ] o af HE
3 r 1 r N
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| T
: M
v 31

{¢) Find the gradient of the graph of 3x + 2y = &

2}

{ Total & marks)

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

37.



4. On the grid, draw the graph of y=4x -2

(Total 3 marks)

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

38.



8 Omnthe grid dravw the graph of x + v =4 for values of x from -2 1o 5

=¥

=2 =] 1 2 3 4 3

(Total 3 marks)

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

39.



28 (7) Constructthe praphaf r©+317 =0
¥
T

L,

[

EEH— —2 — (: ! Jensn iy
—d
=5
1Ll
1
11T
(]
(t) By drawing the line x +)- =1 on the grid, solve the equations  x° +)# =8
x+y =1
= I
or X = WFE
(&)
(Total § marks) _

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier
40.



22, (1) Complele the lable of values for y= &7

x =" -1 o 1 2 3
¥ £ ]
@
(b} On the grid, draw the graph of y= & — 7 for values of x from —2 1o 3
Ty
III
10k
T~ & _] ) _-x
£
11
tH
@
(Total 4 marks)

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

41.



27. The graph of y = f(x) is shown on the grids.

(a) On this grid, skebch the graph of j":f[.l:'—ﬂ]-
¥y

o de A

=
-k
—

e _—r -
[ [N

w1 3
L
N
|
L
L
e
=

B

&
L¥

(t) O this grie, skeleh the graph of y=— (%)
4y

L=a)

s e LA

I
-k

e
L
L
L
il

=

=] i

(Total 4 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier

42.



r+r-3

14 (g) Complete the table of values for 1

¥t +x - 3 for values of x from —4 to 2

(i) Om the grid below, draw the graph of ¥

=0

{2} Use your graph to find astimates for the solutons of x*+x-3




Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
43,

4. (a) Complele the table of values for y=3x+ 4

4 -2 -1 ] 1

(%)

@

(b) On the grid, draw the graph of y= 35+ 4

@
{Total 4 marks)

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier

44,



16. Draw the locws of all points which are eguidistant from the lines A8 and AC

(Total 2 marks)

Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier

45.



3. (3) Complete the mble of valoes for y=2xr+ 12

x -2 -1 o 1 2 3
¥ 0 2
]
(b} Om the grid, draw the graph of y =2x + 2
¥
k.
#
i
5
2
1
-2 =l iy 1 i xr
-1
-
]
() Use your graph to find
(i) the value of ) when r=-135
B et
(if) the value of ¥ when y =7
SN
]
(Total 6 marks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier

46.



17. (3) Complets the table of values for y=xr"—3r-1

0

(&)

-1

-3

-1

() On the grid, draw the praph of p=x— 3r—1 for valuss of x from - 2 to 4

‘ez

roEINE

=

]

2y

(Total 4 mariks)

OCR GSCE - Thursday 5 November 2020 — Paper 5 (Non-Calculator) Higher Tier

47.



19 (a) Write ¥’ — 10x + 22 in the form (x — a)® - b.

(b) Sketch the graph of y = ¥ —10x+22.
Show clearly the coordinates of any turning points and the value of the y-intercept.

[4]



OCR GSCE - Tuesday 5 November 2019 - Paper 4 (Calculator) Higher Tier

48.

17

Sketch the graph of y = 3",
Give the value of the y-intercept.

*

[2]



OCR GSCE - Thursday 7 November 2019 — Paper 5 (Non-Calculator) Higher Tier
49.

20 (a) Write x° —6x+ 11 in the form (x—a)’ + b.

{b) Sketch the graph of y= ¥ —Bx+ 11.
Show clearly the coordinates of any tuming points.

[3]



OCR GSCE — Monday 11 November 2019 - Paper 6 (Calculator) Higher Tier
50.

7 (a) Complete the table for y = x° — 4x + 1.

x -1 0 1 2 3 4

¥y 1 ]

(b) Draw the graphof y = x° ~4x+ 1for-1€ x € 5.

y
|
8 :
]
i
4
241 auns -
- x
-1 0 2 3 4 5
_4
]
-10 )




{c} On the same grd, draw the graph of y = 2x~Bfor-1 < x < 5.

d) Use your gra| o sobve the equation xi—4x+1—?_x—ﬁ.
your g eq)

Give your answers to 1 decimal place.

OF X = e



OCR GSCE - Thursday 6 June 2019 — Paper 5 (Non-Calculator) Higher Tier
51.

13 Shirley is asked to sketch a graph of y = 5" for x = 0.
She produces the following.

y
A

o a4

The graph has two errors.

How should they be comrected?

. 2]



OCR GSCE — Thursday 6 June 2019 — Paper 5 (Non-Calculator) Higher Tier
52.

17 (a) Write X* +8x+ 3 in the form [x+a_]2—b.

(b) Sketch the graph of y = X +8x+3.
Show clearly the coordinates of any turning points and the y-intercept.

¥
A

[4]



OCR GSCE — Tuesday 11 June 2019 — Paper 6 (Calculator) Higher Tier

&inx for0° < x =< 360°.

53.

16 Skeich the graph of y
¥

[ ]

24

1

0

-1
_2_

180" EY s

A



OCR GSCE - Tuesday 6 November 2018 — Paper 4 (Calculator) Higher Tier
54,

21 The number of gannets on an istand is assumed to follow this exponential growth model.
N=0.45x1.07"

N is the number of gannets, in thousands.
¥ is the number of years after 1% January 2010.

{a} Complete the table for N = 0.45 x 1.07".

x 1] 5 10 15 20
N 0.45 0.63 124
[2]
(b) Draw the graph of N = 0.45 = 1.07".
Mumber of :
gannets, N 14—
(thousands)
0 5 10 15 20
Number of years, x, after 1%! January 2010
[2]

(e} Use the graph to find the year when the gannet population is predicted to reach 1000.



OCR GSCE - Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier
55.

18 (a) (i) Write x"+4x— 16 in the form (x+a)° — b.

(i} Solve the equation x*+ 4x— 16 = 0.
Give your answers in surd form as simply as possible.

(il ¥= e O X = e [4]

(b) Sketch the graph of y= *+Ax— 16, showing clearly the coordinates of any tuming points.

N ]

[3]



OCR GSCE — Monday 12 November 2018 — Paper 6 (Calculator) Higher Tier
56.

10 Skeich a graph which shows that y is directly proportional to x2.

[ ]




OCR GSCE — Monday 12 November 2018 — Paper 6 (Calculator) Higher Tier
57.

18 (a) Sketch the graph of y= cosx+ 1for 0° < x < T20°.

T T T T T T T T X
90° 180 270°7  360° 450 540 G307 TA0°

[3]

(b) Explain why the equation cosx + 1 = 2.7 has no solutions.

M



OCR GSCE - Thursday 24 May 2018 — Paper 4 (Calculator) Higher Tier
58.

17 For each graph below, select its possible equation from this list.

1|x
y=— ¥ = COSX y = x2 J"=EEJ' y=2%
1
y =sinx y=2* y=tanx y=x3 y:?
(a) Y,
TX
\ (8) ¥=
(b)
V\ ,
YA
(c) ¥y
1 /
]
- x

(3]



OCR GSCE - Thursday 7 June 2018 — Paper 5 (Non - Calculator) Higher Tier

59.

9 (a) Complete the table for y = x* - 3x.

x

-3

-2

-1

-18

-2

-2

18

(b) methegtaphofy=x’—3x for-3€<x=<3.

WG " RN

y

[

™ |

W

—20 3113

(c) Use your graph to solve X - 3x = 10.



OCR GSCE - Tuesday 2 November 2017 — Paper 4 (Calculator) Higher Tier

60.

{a) Complete this table for y=x" + x—4.

-4

3

-2

2

{b) Draw the graphof y=x*+x—4for4 = x< 3.

Yi
il i a3 '“]'"‘.'Z'."f 7T




(e} Use your graph to solve ¥ rx—4=0.

(C) %= o] U ' |

(d) On the same grid. draw the graph of y =-2x— 1for-4 = x = 3.
You may use the table if you wish.

[31

(8) Use your graphs to solve the aquation Hrx—4="2x—1

(@) x= (o] U ' |



OCR GSCE - Tuesday 13 June 2017 - Paper 6 (Calculator) Higher Tier

61.
7 (a) Complete the table for y = x* — 2x.

X -1

y 3

1

(b) Draw the graph of y = x? —2x for -1 < x < 4.

y
A

10

et
b1t

O

e
e

3

R
e

-

b4
bt

(=2}

.~
e

w

.
ce

e
e

w

e
.

N

I
b4t

3 -

-
-

(c) Use your graph to solve x* —2x = 2.

(1

(2]



OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier

62.
15 (a) Sketch the graph of y = sin x for 0° = x < 360°.

90° 180° 270° 360°

(b) Solve the equation 5 sin x = -3,
Give all of the solutions in the range 0° < x < 360°.

(b) x=............%o0rx= ...

[2]

" [4]



AQA GSCE - Tuesday 21 May 2019 - Paper 1 (Non - Calculator) Higher Tier

63.

10 The number of items, n, made in 1 hour by a machine is givenby n= 50
I

1 is the time in minutes the machine takes to make oneg item.
The value of f changes for different types of item.

10 (@) Onthe gnd below, draw the graphof n= ﬁr—n for values of t from 1 to 4

[2 marks]
TO4+—— ..... T | EE .....
G0
50+
Number of tems, n, | | | | |
made in 1 hour | {
30
20
104+— T I
0 . - - *
0 1 2 3 4
Time, ¢, (minutes)
to make one tem
10 (b) The machine takes 3 minutes 30 seconds to make one itern.
Use your graph to estimate the value of n.
[2 marks]

Answer




AQA GSCE — Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier
64.

8 On the axes, sketch the curve 1= x¥-2

You must show the coordinates of the y-intercept.
[2 marks]

"

i)




AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier
65.
24 Here is a skefch of v = f(x)

The curve passes through the points
(-2,-10) (-1,-3) (0,-2) (1.-1) (2,8)

=Y

On the grid, sketch the curve v = fix + 2)
[2 marks]



AQA GSCE — Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
66.

14 Draw the graph of 3 =0.8" for values of x from 0 to 6
[3 marks]

0.9

0.81

0.71

0.6

0.5

0.41

0.31

0.2

0.11

=01




AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier
67.

6 (a) Comgplete the table of values for ¥ gD
[2 marks]

& (b) Draw the graph of ¥ Fox-2 for values of x from -2 to 3
[2 marks]

& (c) Write down the x-coordinate of the turning point of the graph.
[1 mark]

Answer




AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier

68.

27 (a)  hix)= Y« for all values of x

On the grid, draw the graph of the inverse function y = h_1f.r} for 2 gxrg2

[2 marks]

=

I _8&-

e

£



27 (b)  For all values of x
fix) = sin x

gix)=x+ 890
On the grid, draw the graph of the composite function v=1fg{x) for 0° < x < 360°

[2 marks]

=y

0® a0° 180° ETIH“ 360°




AQA GSCE - Sample Paper 2 (Calculator) Higher Tier
69.

8 Here is the graph of 4x-3y=12 forvaluesofx fromOto 4

L

L

T
|
[}
==

H

. i..

b

By drawing a second graph on the grid,
work out an approximate solution to the simultaneous equations

4x-3y=12 and 3 +2y=6
[3 marks]

Answer




AQA GSCE - Sample Paper 3 (Calculator) Higher Tier
70.

23 A container is filled with water in 5 seconds.
The graph shows the depth of water, 4 cm, at time 7 seconds.

d A
.
e 1
£ =
] -
P
1
20 T 7
1 .— 1
1
1
| K 1
15 | & {
1 1
T
[ Fi
10 :
AL
F:
r 1T
[N
[~ | M I
fa T
1
1
| o =1 444 - ]
I 1
F.
0 - :
0 1 2 3 4 5



23 (a) The water flows into the container at a constant rate.

Which diagram represents the container?

Circle the correct letter.
[1 mark]

A B

23 (b) Use the graph to estimate the rate at which the depth of water is increasing at 3 seconds.

You must show your working.
[2 marks]

Answer Cmis




